Dated: 23.01.2008

Page No. 323 (Reprint of Fourth Edition)

Major Head: 6250 – Loans for other Social Services

**Sub-Major Head: 60 - Others** 

Insert the following new Minor Head below the existing Minor Head -201 Labour:

Minor Head: 202 – Loans to Institute Management Committee of the ITIs

(Effective from 2007 - 2008) (Authority T - 14018/6/2005-Codes)

Sd/(Renu C. Deshpande)

Dy. Controller General of Accounts

Page No. 225 (Reprint of Fourth Edition)

#### **D.** Grants-In-Aid and Contributions

Major Head: - 3601 - Grants-in-aid to State Governments (1) (3) (4)

**Sub-Major Head: 05 – Grants for Special Plan Schemes** 

Insert the following new Minor Head of account below the existing Minor Head "102 – Development of Boarder Areas": -

# 104 - Special Package for Bodoland Territorial Council

(Effective from the year 2007-08) (Authority T - 14018/9/2007-Codes)

Correction Slip No. 639

**Dated: 13.02.2008** 

Page No. 283 (Reprint of Fourth Edition)

### Major Head: - 5002 - Capital Outlay on Indian Railways - Commercial Lines

#### Sub Major Head – 01 – Capital bearing dividend Liability

Insert the following new Minor Head of account below the existing Minor Head '190 – Investment in Government Commercial undertakings – Other Public Sector Undertakings.' (Earlier Major Head substituted vide C.S. 480 dated 15.9.2003)

#### 191 – Investment in Non-Government Undertaking including JVs/ SPVs

(Effective from the year 2007-08) (Authority T - 14018/18/2005-Codes)

Dated: 15.02.2008

Page No. 324 (Reprint of Fourth Edition)

Major Head: 6402 – Loans for Soil and Water Conservation

Insert the following new Minor Head below the existing Minor Head -203 Land Reclamations and Development:

**Minor Head: 204 – Water Conservation** 

 $\begin{array}{c} (Effective\ from\ 2007\ \hbox{--}\ 2008)\\ (Authority\ T-14018/7/2001\hbox{--}05\hbox{--}Codes) \end{array}$ 

Correction Slip No. 641 Dated: 04.04.2008

Page No. 153 (Reprint of Fourth Edition)

# Major Head: - 2401 - Crop Husbandry

Insert the following new Minor Head of account below the existing Minor Head "119 – Horticulture and Vegetable Crops (6)": -

# 129 – Issue of Special Bonds to Fertilizers Companies as compensation towards fertilizer subsidy

(Effective from the year 2007-08) (Authority T - 14018/7/2005-Codes)

Correction Slip No. 642 Dated: 04.04.2008

Page No. 181 (Reprint of Fourth Edition)

Major Head: - 2852 – Industries (1)

**Sub-Major Head: 03 – Fertilizer Industries** 

Insert the following new Minor Head of account below the existing Minor Head "101- Fertilizer Subsidy": -

129 – Issue of Special Bonds to Fertilizers Companies as compensation towards fertilizer subsidy

(Effective from the year 2007-08) (Authority T - 14018/7/2005-Codes)

Correction Slip No. 643 Dated: 04.04.2008

Page No. 364 (Reprint of Fourth Edition)

#### Major Head: - 8012 - Special Deposits and Accounts

Insert the following new Minor Head of account below the existing Minor Head "128 – Special Securities issued to Oil Marketing Companies (8.13 percent Oil Marketing Companies' Government of India Special Bonds, 2021)" inserted vide Correction Slip No. 610 dated 17.01.2007: -

# 129 – Issue of Special Bonds to Fertilizers Companies as compensation towards fertilizer subsidy

(Effective from the year 2007-08) (Authority T - 14018/7/2005-Codes)

Correction Slip No. 644 Dated: 04.04.2008

Page No. 103 (Reprint of Fourth Edition)

Major Head: - 2049 - Interest Payment

**Sub-Major Head:** 60 – Interest on Other Obligations

Insert the following new Minor Head of account below the existing Minor Head "108 – Interest on Special Securities issued to Oil Marketing Companies (8.13 per cent Oil Marketing Companies' Government of India Special Bonds, 2021)" inserted vide Correction Slip No. 608 dated 17.01.2007: -

#### 109 – Interest on Special Bonds Issued to Fertilizers Companies

(Effective from the year 2007-08) (Authority T - 14018/6/2000-04-Codes)

Correction Slip No. 645 Date: 13.05.2008

Page No. 414 (Reprint of Fourth Edition)

#### Major Head: 8675- Deposits with Reserve Bank

(i) Insert the following minor head below the existing

Minor Head '107-Central-Civil-Market Stabilization Scheme (4)': -

#### **108 – Union Territory Governments**

- (ii) Insert the following after the existing footnote (2) (c) under this major head:-
  - (d) Reserve Bank (Other Nominated Banks Private Sector Banks)
- (iii) Word "three" in the first sentence of foot note (2) may be replaced with the word "four".

(Effective from 2007-2008) (Authority T-14018/15/2005-Codes)

Correction Slip No. 646 Dated: 16.05.2008

Page No. 124 (Reprint of Fourth Edition)

Major Head: - 2202 - General Education (1)

**Sub-Major Head: 01 – Elementary Education (10) (1)** 

Replace the following new nomenclature of the existing Minor Head '112 – National Programme of Nutritional Support to Primary Education', inserted vide Correction Slip No. 583 dated 02.05.2006, with the following nomenclature:

**Minor Head:** 112 – National Programme of Mid Day Meals in Schools

(Effective from 2008-09) (Authority T - 14018/6/2008-Codes)

Correction Slip No. 647

Dated: 26.05.2008

Page No. 98 (Reprint of Fourth Edition)

Major Head: 2047 – Other Fiscal Services

Insert the following new Minor Head of Account below the existing Minor Head "108 – Customs, Central Excise and Gold (Control) Appellate Tribunal".

Minor Head: 109 – Prevention of Money Laundering Act, 2002

(Effective from 2008 - 2009) (Authority T - 14018/6/2008-Codes)

Correction Slip No. 648

Dated: 26.05.2008

Page No. 64 (Reprint of Fourth Edition)

Major Head: 1003 - Indian Railways - Strategic Lines Revenue Receipt

Sub Major Head: 03 – Sundry other Earnings

Insert the following new Minor Head of Account below the existing Minor Head "106 – Sales Proceeds of Unserviceable revenue scrap (not creditable to DRF, ACF, OLW(R) or Suspense)

Minor Head: 107 - Reimbursement of Operating Loss on Strategic Lines

(Effective from the year 2008-09) (Authority T - 14018/18/2005-Codes)

Correction Slip No. 649 Dated: 15.09.2008

Page No. v of Table of contents (Reprint of Fourth Edition)

Sector C. Economic Services

Sub-sector (e): Energy

## 2810 - Non-Conventional Sources of Energy.

Substitute the nomenclature of the Major Head as under:

Major Head :- "2810 – New and Renewable Energy"

(Effective from 2009 - 2010) (Authority T - 14018/7/2001-05-Codes)

Page No. 179 (Reprint of Fourth Edition)

#### Major Head: - 2810 - Non-Conventional Sources of Energy

1. Substitute the existing Major Head and Sub-Major /Minor Heads there under with the following:

Major Head: "2810 - New and Renewable Energy"

Minor Head 101 - Grid Interactive and Distributed Renewable Power

102 – Renewable Energy for Rural Applications

103 – Renewable Energy for Urban, Industrial & Commercial Applications

104 – Research, Design & Development in Renewable Energy

**105 – Supporting Programmes** 

800 - Other Expenditure

(Effective from 2009-10) (Authority T – 14018/7/2001-05-Codes)

Correction Slip No. 651 Dated: 15.09.2008

Page No. viii of Table of contents (Reprint of Fourth Edition)

Sector C. Capital Accounts of Economic Services

Sub-sector (e): Capital Account of Energy

# 4810 - Capital Outlay on Non-Conventional Sources of Energy.

Substitute the nomenclature of the Major Head as under:

Major Head: - "4810 - Capital Outlay on New and Renewable Energy"

(Effective from 2009 - 2010) (Authority T – 14018/7/2001-05-Codes)

Correction Slip No. 652 Dated: 15.09.2008

Page No. 273 (Reprint of Fourth Edition)

#### Major Head: - 4810 - Capital Outlay on Non-Conventional Sources of Energy

1. Substitute the existing Major Head and Minor heads there under with the following:

Major Head: - "4810 - Capital Outlay on New and Renewable Energy"

Minor Head "101 – New and Renewable Energy Programmes & Applications "600 - Others"

(Effective from 2009-10) (Authority T – 14018/7/2001-05-Codes)

Correction Slip No. 653 Dated: 15.09.2008

Page No. x of Table of contents (Reprint of Fourth Edition)

#### Sector F. Loans and Advances

6810 - Loans for Non-Conventional Sources of Energy.

Substitute the nomenclature of the Major Head as under:

Major Head: - "6810 - Loans for New and Renewable Energy"

(Effective from 2009 - 2010) (Authority T - 14018/7/2001-05-Codes)

Correction Slip No. 654 Dated: 15.09.2008

Page No. 336 (Reprint of Fourth Edition)

# Major Head: - 6810 - Loans for Non-Conventional Sources of Energy

1. Substitute the existing Major Head and Minor Heads there under with the following:

Major Head: - "6810 - Loans for New and Renewable Energy"

Minor Head "101 – New and Renewable Energy Programmes & Applications" 
" 800 – Others"

(Effective from 2009-10) (Authority T – 14018/7/2001-05-Codes)